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= fha Eitk | PERR (kg) wFR (FH) =il i il PE (BAL)
130100 | VWA 16 1,112 76 65 65| BN 16
Y3122 | I =KAR 26 1, 650 65 65 60 | B 264
Y3090  FRANS 2 162 32 32 32| BW 5K
31100 H3E 45 3,024 1,080 1, 080 864 | &Y 34—
31200 (L 3 454 32 32 32 | BW 143K
33810 | FHHEE 3 173 11 11 11| BN IGES
Y3015 7 X L 8 167 11 11 5 &M 183
32600 #3 7 568 22 22 55N 343K
31700 F N 35 2,916 864 864 324 BN 411
31800 IE )AL 45 16, 286 97 76 38| B/ 2955
31900 X 12 5, 562 648 540 108 | B 12kg |
34100 HAI 19| 6, 188 173 ] 162 162 | B 3748
36210 #F L& SRBHE 2] 324 216 | 216 216 | B 2kg
35220 XS RHIE 18 7,139 486 378 378 | BN 18kg
35303 AF v T EZALED 35 15, 903 540 432 378 | B 35kg
Y3115 £z AL S 816 292 292 292 | BN 3kg
35400 Z5HE 0 1, 267 324 292 292 | B 4kg
Y3033 ZeMAHT 214 12, 852 76 54 54| BN - 214kg
36200 4 70 18, 036 270 248 248 BN 70kg
33410 | HF=—L & < 2 518 65 65 65| B 818 N
33200 BV TTT— 1, 382 . 86 86 86 | & AN 164
33300 Fmy ol — 10 2, 203 65 65 65 | BN 34E
33300 Ymy a3y — 90 29, 030 356 324 281 | &N 90kg
33303 AT 4wy Tmyal 2, 592 86 86 86 | BN 304
Y3030 V&fEAE (3) 5, 184 1,728 1,728 1,728 | & 3kg
36340 LR 810 162 162 162 | & 5kg
41390 1EAD A 398 14, 785 432 65 65| &M 109% v k
46108 X AMEDONE: 40 51, 872 432 389 324 | BN 1328y 7
71032 KFZ%®F GR) 1, 404 54 54 32| BN 304
71150 | LIT 1,987 86 65 65 | BN 283
71207 Y EVa vk 216 216 216 216 | B 13
53456 7= 7piE 2 540 270 270 270 | BN 2kg
Y5009 E#H T KR 5 1,512 324 324 216 | BN 5kg
30100 7ZWZ A 2L 120 9,234 81 76 76 | BEIRE 1204
30300 A% L 50 8, 640 1,728 1,728 1,728 |4 54—
130300 A% L 100 14, 364 1,620 1,296 1,296 | £k 104 — 2
30600 LA A M 8 216 108 108 108 |8 24— R
31100 H¥ 360 13,716 1,728 432 432 |EIR B 24— R
33500 ¥ &3 L 1 259 22 22 22 | & 124%
33810 HAEIE 12 4,536 1,512 1,512 1,512 ERE 3r—2% -
33810 | HHE 8 1,728 43 43 43| ERE 4045
|
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2k | e S| B | e B | e | PE wm | EH D
Y5005 47k3EA 5 1,534 1,534 1,534 1,534 | K%y 14— %
31700 | F ¢ Y 100 10, 800 1,080 1, 080 1,080 |[EEIRE 104 — A
31950 HRE 21 7,938 1, 350 1,080 1,080 | FEEIRE T — A
31900 X 15 5, 400 216 162 162 |EEIRE 303 (500g)
31930 Zh¥ 1, 944 65 65 65 |1£ 304%
32800 {25 4, 266 92 81 81 |l 505
34300 729 2L 25 10, 476 2,160 2, 052 2,052 | REA 54— 2R
34400 k< b 20 8, 424 1,728 1,728 1,620 |HEA 54— A
34460 I =Lt F & M 5 3, 683 162 151 151 |EIRE 24,3 7
34100 | #AK 4 2, 052 108 108 108 | = I 1948
34100 HIK L 15 6, 480 2,160 2, 160 2,160 |EIRE 34— A
34500 | bB—-v 30 11, 340 76 76 k== 15048
37200 | L x 958 2L 12 2, 592 972 972. 756 | 1 E 37—
33420 (Y —r U —T L F R L 648 22 22 22 | 1& [ 30#
033200 BV TTU— 518 86 86 86 |EEIRE 64
33300 Tmyaly— 648 54 54 54 | IR 124
38100 |4 L= 12 10, 152 86 86 81 | B I 12073y 7
31310 A 7§ 2, 808 70 70 70 | f& @ 4048
31500 /PhEASE 1,728 86 86 86 | 1@ [ 2048
32500 | HoF 432 54 54 54 | HE I 83
36320 F)IE L 48 2, 376 43 22 22 B IE 8048
36340 B LN REZE L 10 4,320 2,160 2, 160 2,160 |FEIR B 248
37560 FiIT 1 2, 290 324 281 281 | R4y 8y
36400 223 2L 10 6, 264 6, 264 6, 264 6, 264 | F4 1r—=
38400 D EFE 10 3, 888 1,944 1, 944 1,944 | £l 24— R
38400 X DEEHE 15| 6, 480 49 49 38 IR 15048
38521 KA LHUHE 12 9,720 108 54, 54 | &[] 12048
38604 U XH 3 1,944 65 65 65 Elf 3048
40100 | Zx7» A 100 3, 456 540 324 324 | BEA 104 — 2%
Y4005 ALY 15 8,316 8,316 8, 316 8,316 7 AUH 1/ —2
43611 HEEENE 2L 9 2, 268 756 756 756 | 13 [ 34—
Y4047 B EHBS 1 1,253 324 324 302 |18 @ Wy
49100 /3 FF 12 540 540 540 540 74 UL 14/ —2
49300 F U 4 T— 5 3, 240 3,240 3, 240 3, 240 | 1& M 14—
Y5009 {EAA FRAR S 15 810 54 54 54 EIRE 15kg
B AR 2, 359 412, 355




